
SAP ABAP table VIWEGB {Relation table between buildings and assets}

VIWEGB

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SGENR [CHAR (8)]

DANGEL [DATS (8)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]
 VIWEGB-ANLN2 = ANLA-ANLN2 0..N

1

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 VIWEGB-ANLN1 = ANLH-ANLN1 
0..N

1

T000

MANDT [CLNT (3)]

 VIWEGB-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VIWEGB-BUKRS = T001-BUKRS 

0..N

1


